1. (10 Pts) Circle the best answer for each question below

weakest acid

o

\

Lactone

hydrolysis

7.7-dimethyl-
bicyclo]3.2.1]octane

2,2-dimethyl- ‘
bicycle{1.2.3]octane

Acid hydrolysis of an

Acid hydrolysis of a
nitrile.




" such as peniciltin
2. (20 Pts) Beta lactams are found in important antibiotics 5CH Ll etive
and cephalosporin. : Mummumww;mwm. ad
m«&”&”&“ﬁmmmmmmm reaction.
Please be neat!
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ALL o4 omiFe syeer -

°| '°”“ Using only the substances in your stock room (on cover page) as
mdam,maswmm-mmmmuw. You may

use any other substances you choose to help in the synthesis, but all of the
carbon in the product must come from the stock room. | encourage you to
look._mlhe signatures of reactions we have studied and to work backwards.

. (10 pts) Using only the substances in your stock room (on cover page) as

use any other substances you choose to help in the synthesis, but all :

carbon in the product must come from the stock room. | encourage you to

took for the signatures of reactions we have studied and to work backwards.
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